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' 1. SETEeh! ch! Teh STdet | 40 TTA9Td Uoehlget 81 380
¥ HS AN AwTereRt 19 Uiaeta Ueshlgel e
TR O Jee fear qor 3@ gehr ure fHrsr o 26
TfaeTd Ueehiget 21 fohaT TEEht ol Iee T g 2
A whisky bottle contains 40% alcohol. Some part
of it was removed and whisky containing 19%
alcohol is mixed so that the mixture is now 26%
alcoholic. Find how much whisky is replaced?

a) 2/3 b) 2/5

¢) 3/5 d) 1/2
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' 2. U SATIRT & U 50kg. ST € HRT FS (&
8% HATH UY Tl § aUT 9 18% HATH WX e
THTTeRt S8 14% T GATHRT BIdT & A1 38 18% HATh

TR FoRd=T FHT =T 2

A merchant has S0kg pulses. Some part of it is sells
at 8% profit and rest at 18% profit. Find the
quantity sold at 18% profit if there is on overall
profit of 14%

a) SOKG b) 40KG

¢) 30KG d) 10KG
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3. Ueh. SATUR o UTH 72kg. ATEA ¢ 30 | 6D T8

14% TATEH O ST § qAT AT 6l 6% T T FA
TRt 3/ 4% T Bt g dF 38 14% T W
foRa T I ?

A merchant has 72Kkg rice. Some part of it, he sells
at 14% profit and rest at 6% loss. Find the
quantity sold at 14% profit if he sutfers a loss of
4% on 91%

a) 7.2 kg b) 1.2 kg

¢) 1.3 kg d) 6.2 kg
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4. G 7UT B TR o 100 THaTsS araer aerent 300

Ho TATH HATAT § Trerent forsha 7ed 1100 Fo om AT
A THT TR & ATIA Rl ANTT Hed 10 To TAT 5 o
foho 7, AT THIUTH A AT B WehR ok SITeTeT hT SITUTA
HT AT?

Sudhir sold 100kg rice of type A & type B and
earns Rs 300, which selling price was Rs 1100. If
type A & type B rice costs him Rs 10/kg and Rs
S5/kg then find the ratio of type A and type B.
a)3:4 b)3:2

¢)l:2 d4:3
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5. TIT T 1500 0 hY 3T ek H FHT Y (4271 36 S

& 6 TTA9Td AT Y & 5 TTA9Td oh ST U STHT Tl
faam afe a9 o ot | THT T A FeT 85 To
ATHSAT BIdT 8, aT IdTd <kl 3TH 6 TfA9Td AT W
TRt U T 2

Ramesh deposited Rs 1500 in two banks. He
deposited some amount @6% and rest @S5%. If at
the end of the year he got Rs 85 as total interest
then find the amount deposited @6%.

a) 1000 b) 2000

¢) 3000 d) 4000
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6. AT A W T TR UTHT T ST 5 2 & Al (eh o
B ¥ 8: 5 TAT o fHerur i foher orquTa ® e
SATT T AT T H 9:4 T TTUTA 7T 2

Vessel A contains milk and water in the ratio in the
ratio of 5:2, while vessel B contains same in the
ratio of 8:5 Find the ratio in which mixture of both
vessels to be mixed so that the new ratio becomes
9:4.

a)7:1 b)7:2

¢)7:3 d7:4
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7. T SRT H et 120 A€ & AT 50 T0 R 20 To *
WRTE & & a1 Tt et &7 et 9o 3600 S0 2
IHh 20 To ok TeT hIHEAT feha1 &2

A bag contains 120 notes in denomination of Rs 50
and Rs 20. If the total value of money is is 3600,

then find the number of notes of denomination of
Rs 20.

a) 80
b) 90
¢) 100
d) 110
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8. 1105 TTHAIE ol 85 Tool W T ThR ITET AT i

Tcdich TTSoh Rl 16 TTeheic THeTd ! & at Teieh 1S (Shal
T 11 THIE a1 TTSoh chi TEIT IdTl

1105 chocolates are divided in 85 students in such

a way that, if every boy gets 16 chocolates then
each girl get 11 chocolates. Find the number boys.
a) 34
b) 35
¢) 36
d) 37
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9. Tk TR 312 TeRodto T T o qAT &R | A

AT B Al T Y i 40 Femwft./eieT & wom R A
T 10 Tehotto/ 2T & R et I I &/ | 6 6L
T BT Al SR ST O <hl 15 g SRIT g 2

bus and car. If the speed of the bus is 40kmph and
that of car is 70kmph, and the total time of journey

CAREER FOUNDATION

is 6 hours. Find the distance travelled by car.
a) 169
b) 170
¢) 171
d)168
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10. Tk ForTEaTe § o TR 3R 66 Tohal 21 a1S
7ok fem Rt fmT stan &, o Rt < s 90 e g
2 3T e ek WRI w1 AT ST @ Y 3eh O Y
TTAT 224 TTH Bet g1 Farg foh 300 FRIfgarer # fohaq
T E 2

In a zoo there is some rabbits and some pegions. If

CAREER FOUNDATION

heads are counted they are 90 and if legs are
counted they are 224. find the number of rabbits
in the zoo?

a) 22 b) 14

¢) 16 d) 15
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11. TESA < UTE FS T q9T HA  Are @A <hl H&1qT
55 wﬁﬁa’ﬁwm 160 &1 T 38k UTH Hel
feRa TITr o 2

Rahul has some cows and some hens. If heads are
counted they are 55 and the total number of legs is
160. Then find the number of cows.

a) 23

b) 24

¢) 25

d) 26
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12. TeRET URIEAT § el 75 T27 U 1T Tedeh el ST
% 4 37k [HAd T AT TAd ST o 1 37k hie {10
SATd & 38 AT TAT T T FohaAT 7T HeT 125 3k
ITH TeRaT AT 36k et foha T €& o 2

In an exam, total 75 questions have been asked.
Each right answer gives 4 marks and for every
wrong answer 1 marks is deducted as penalty. If a
student attempts every questions and gets 125
marks in all, then find the total number of right

ANSWwWers.
a)40  b) 41 ¢) 42 d) 43
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' 13,370 ST YATH 1 ST BT AU 4 : SEAMB AT

10%6Y Ifg 73 O v Y o | fovewr voht 3fg &t Rremy
HET TAT H 15%hT qTeg &1 AT THSA T 82.8kgT 2

The ratio of weight of Ram and Shyam are in the ratio of
4:5. The weight of Ram increases by 10% and their total
weight increases by 15%. If the total weight of Ram and
Shyam becomes 82.8 kg then find the percentage increase

in weight of Shyam
a) 19% b) 20%

¢) 23% d) 24%
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14. T SEA T 3T hacoT oh I 6 HAATT 3 : 4 T IaT
o ST H 16% °hT Al Bt & AT oheleT oh oI | Tehd %
<hT oTfeg shT AT BT et | 20% hT Fieg, BT TAT Het I
84Kkg. &I ITU 2

The ratio of weight of Naval and Keval is 3:4 . The
weight of Naval increases by 16% and their total
weight increases by 20%. Find the percentage increase
in weight of Keval if their total weight becomes 84 kg.
a) 19% b) 20%

¢) 23% d) 24%
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15. Ueh THSIOT | 37TeT 371 UT=T <l WAT kT AU 1 2 3 2

afe 3t frgror o 5 wfieT et 2R STet T sy, v fersror
<RT SIJUTE 1 : 2 &1 WTQ Ag@W, 3@ T fororor 61 Fet
AT foRa e B

In a mixture, the ratio of acid to that of wateris1 : 3 If
S litre acid is added to the mixture then the ratio

become 1: 2. Find the volume of new mixture.
a. 32 b. 40

c. 42 d. 45
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16. 10 . ST #1e g&1 H forer 10T | AT THeATaIT TG,

e s st ot 9o 8.50 %, U efie Y <y 2

In what ratio water must be mixed with milk costing

Rs 10/L to bring down the price at Rs 8.50.
a42:23

b 23:42
c17:3

d 25:9
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17. 729 Tet TrsioT # g7 371X UT=T T STUT4 7 : 2 ) 309

TeRaT OTHT ST STAT ST Tk U T0or o g 31 o=t <t
FTUTA 7 : 3FTAY ?

In a 729 litre of mixture containing milk and water in
the ratio 7: 2. How much water must be added to make

the ratio 7: 3.

a. 99 Toei
b. 81 Tuet
c. 72 et
d. 79 et
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18. 100 Ttex Torsror & ur=1 T ATAT 10% TAT 919 &7 &)
SO Teha T ST UTHT STel dTieh TR frsror o ger sht ure
50% 7€ 1T ?

In a 100 litre mixture, 10% is water and rest is milk.
How much additional water must be added and so that

the final mixture contain 50% milk.

a. 70 T
b. 72 #fteX
c. 78 &ieX
d. 80 X




